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QUESTION 1

What is correct regarding the configuration shown below? 

static route 0.0.0.0/0 qualified-next-hop 172.30.25.1 preference 7 next-hop 172.30.25.5 

A. The next-hop 172.30.25.1 is selected because the address has the lowest value. 

B. The next-hop 172.30.25.1 is selected because it is listed first. 

C. The next-hop 172.30.25.1 is selected because it is the lowest protocol preference. 

D. The next-hop 172.30.25.5 is selected because it is the lowest protocol preference. 

Correct Answer: D 

 

QUESTION 2

Which two statements describe the connection between the control plane and the forwarding plane? (Choose two.) 

A. Exception traffic is preferred over control traffic during congestion. 

B. A rate limiter is configured by default. 

C. Control traffic is preferred over exception traffic during congestion. 

D. No rate limiter is configured by default. 

Correct Answer: BC 

 

QUESTION 3
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Referring to the exhibit, which dynamic routing protocol would be used for this topology? 

A. IGMPv3 

B. RIPng 

C. RIP 

D. OSPFv2 

Correct Answer: B 

 

QUESTION 4

Which keystroke combination allows users to move the cursor to the end of the command line without deleting text? 

A. Ctrl + a 

B. Ctrl + e 

C. Ctrl + w 

D. Ctrl + u 

Correct Answer: B 

 

QUESTION 5

What is the purpose of the load merge command? 

A. to look for a replace tag in the configuration you load 

B. to combine the current configuration with the configuration you load 

C. to add or delete variables from the configuration based on the contents of a specified patch file 

D. to completely overwrite the current configuration with the configuration you load 

Correct Answer: B 
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